
Multiplication Word Problems

1. Josh plays 4 levels of his computer game and scores 10 points on 
each level. How many points does Josh score? 

2. Farmer Jones has 2 pens on his farm for his pigs. There are 8 pigs 
in each pen. How many pigs does he have altogether? 

3. Saad has 7 groups of marbles. There are 5 marbles in each group. 
How many marbles does Saad have? 

4. Tom walks 5 miles to school each day. How many miles will he 
walk to school in a week? (Remember he doesn’t go to school at 
the weekend!)

5. Taylor builds two brick towers. Each tower has 11 bricks. How 
many bricks does he use? 

6. Diana’s dad buys 6 packets of sweets for her birthday. Each packet 
has 10 sweets in. How many sweets do they have altogether? 

7. What is the product of 8 and 5? 

8. Rob plants 4 packets of seeds in his garden. Each packet has 5 
seeds. How many plants could grow? 

9. Ahmed buys 9 boxes of DVDs at a car boot sale. Each box contains 
10 DVDs. How many DVDs does he have altogether? 

10. Harry draws a square. Each side is 2cm long. What is the perimeter 
of the square? 
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Multiplication Word Problems

1. Josh plays 4 levels of his computer game and scores 10 points on 
each level. How many points does Josh score?  40 points

2. Farmer Jones has 2 pens on his farm for his pigs. There are 8 pigs 
in each pen. How many pigs does he have altogether?  16 pigs

3. Saad has 7 groups of marbles. There are 5 marbles in each group. 
How many marbles does Saad have?  35 marbles

4. Tom walks 5 miles to school each day. How many miles will he 
walk to school in a week? (Remember he doesn’t go to school at 
the weekend!)  25 miles

5. Taylor builds two brick towers. Each tower has 11 bricks. How 
many bricks does he use?  22 bricks

6. Diana’s dad buys 6 packets of sweets for her birthday. Each packet 
has 10 sweets in. How many sweets do they have altogether?  60 
sweets

7. What is the product of 8 and 5?  40

8. Rob plants 4 packets of seeds in his garden. Each packet has 5 
seeds. How many plants could grow?  20 plants

9. Ahmed buys 9 boxes of DVDs at a car boot sale. Each box contains 
10 DVDs. How many DVDs does he have altogether?  90 DVDs

10. Harry draws a square. Each side is 2cm long. What is the perimeter 
of the square?  8cm
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